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Configuration | Term T Level (cm™1) Ref.
1s Zg 1/2 0.0000 | MXOOa
2p Zp® 1/2 82258.9191 | MR0OOa
3/2 82259.2850 | MR(OOa
2s 2g 1/2 82258.9544 | MX0O0Oa
3p 2p® 1/2 §74%2.2112 | MX00a
342 97492.319%¢ | MX00a
3s 2g 1/2 §7492.2217 | MK0OOa
3d Zn 3/2 574%2.3155 | MX0O0a
5/2 97452 .355¢ | MX0O0a
ip Zp® 1/2 102823.848¢ | MX0O0a
3/2 | 102823.8943 | MK00Da
4ds 2q 1/2 | 102823.8530 | MK0OOa
4d Zn 3/2 102823.8942 | MX00a
5/2 102823.5095 | MX0O0a
4f 2p® 5/2 102823.5085 | MX00a
B2 102823.5171 | MX00a
Sp Zp® 1/2 105291.6287 | MX0O0a
3/2 105291.6521 | MK0OOa
Ss 2g 1/2 105291.6309 | MX00a
5d Zn 32 105291.6520 | MX0O0a
5/2 | 105291.659% | MX00a
5f 2p® 5/2 | 105291.6598 | MK0Oa
7/2 1052%1.6637 | MK0OOa
5g 2z 7/2 | 105291.6€637 | MK0Oa
8/2 1052%1.6661 | MX0O0a
H Limit 109678.7717| | MX(O0a
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